FHIBEIRIATRI—X Yy h—BFIEXR

(1RSI R)—J 8]
40w

& ATL—T R A BEHRR—YFYTLH
F— L A& A1 A2 A3 || BR|BR| XA |BERE| B
A1l: EBEFCRY—L40 * 1 —o0|0 — 2| 3 1 2 -1 2
A2: HOFEIVNR—ILYFT 0 — *x |0— 1l o] 0| 2 -2 3
A3: EKEIRI—XTybR—ILU35T (2 — 1 — * 6 3 0 3 1
& BIIL—T R B BEHMAR—YXYLTTH
F— L A& B1 B2 B3 |[Mm| /R | &R |FERAE| IEA
B1: /\FY=740FC *x |2 — 04 —0f 6 6 0 6 1
B2: #EI=740FC 0 — * 1 — of 3 1 2 -1 2
B3: dEIILF—X 0 — 4|0 — * 0 0 5 -5 3
& cin—7 R C EBHRR—YFroTTH
F— L & C1 c2 C3 |BR|BR|XR|BRRE| B
C1: FCTYA—O:f8EBLYIUR * |4 — 04 — 0| 6 8 | 0 8 1
C2: XKRW¥E 0 — * 3 —Oof 3 3 4 -1 2
C3: @mFloBYvh—H5T 0 — 4|0 — * 0 0 7 -7 3
& DL R M BEHRR—YFYoTLH
F — L & D1 D2 D3 (MR |R"R| LR |BERRE| IR
D1: TILVILRERYI40 * 1 — 0|2 —0| 6 3 0 3 1
D2: BhRIHMNDEHYH—UTT40 [0 — * 5 — 1ff 3 5 2 3 2
D3: EMFC40 0 — 2|1 — * 0 1 7 -6 3
50#%
& ESL—T =5 EFEBAEEELHEEE
F— L A& E1 E2 E3 [[MR|/fR| LR |FEAZE| B
E1: #MFCK)—LA50 * 0 — 2|0 — Of 1 0 2 -2 3
E2: $HOFIYMR—ILIST50 (2 — * 0 — 1f 3 2 1 1 2
E3: KRE+# 0 — 1 — * 4 1 0 1 1
& FIL—7 =5 EHEBAR BRKR—YIEE
F— L A F1 F2 F3 ||BR|ER| LR |HERRE| IR
F1: FC35 4 H~< *x |2 —3[2—1| 3| 4| 4 0 2
F2: 3TDARYvh—95T 3 — * 1T — 1| 4 4 3 1 1
F3: \FEIT3%vh—937 1 — 1 — * 1 2 3 -1 3




50

& GIL—TF =5 EFERLEEELHEES
F — L & G1 G2 G3 ||BR|&R|XR|FERE| B
G1: AL =7SC50 * — 3{0 —of 1 1 3 -2 3
G2: KIRFLEXFIEER 3 — 1 * 0o — 1] 3 3 2 1 2
G3: EHM+#¥SC 0—0 — * 4 1 0 1 1
& HIT LT =5 EHEHLE BRR—YES
F — L & H1 H2 H3 |[Bm | FR | &R |JERE| B
H1: +FBFvH—XT =7 * — 3 — 0| 6 7 0 7 1
H2: #HEmE+# 0— 4| *x |0—1f O 0 5 -5 3
H3: EEFFC50 0 — 3|1 — * 3 1 3 -2 2
60#%
® MTL—T R B BEHMAR—YFY2TLH
F — L % M1 M2 M3 (R | FR | &R |[FERZE| IR
M1: BEIz=9IRYvh—o57 * —3/0— 1] 0O 1 4 -3 3
M2: 60RKHZREIRYYH— 3 — 1 * 2 — 0| 6 5 1 4 1
M3: J\F£73560 1 —o0f0 — * 3 1 2 -1 2
& N7 R C EBEHRR—YFroTTH
F — L & N1 N2 N3 |[Bm | /R | kR |JFERE| B
N1: L#Z60 * — 0|0 — 2| 3 1 2 -1 3
N2: 85> =760 0 — 1 * 1 — o0l 3 1 1 0 2
N3: HF60 2 — 0|0 — * 3 2 1 1 1




F15EEILTRE2—

AYyh—BFEXR

REF—F AU ZRHAERR

(407 L E)iESTHRR—YF v TEHE PK 2|4
0 0
R 7/13 1315~ PK 5]4
0 4 A EvF 0 0
7/13 9:30~ 7/13 9:30~
A EvF ‘ B EvyF
(BR& 1X34:1) (B& (%31r)
E$4 AV=1 77 -0 [N =
40k AYIL—7 40i% BYIN—7 40i% CHN=7 40m% DI N7
EEIEREES J\F|#m| Lk R ESNEED NI ET
#m| * |1-0]0-2 IFE| * [2-0[4-0 79i-a| % | 4-0]4-0 wel x [1-0f2-0
»3%[0-1] * [0-1 #eAmlo-2| * [1-0 *iRl0-4] * [3-0 BhAT| 0-1] * |5-1
gkl 2-0[ 1-0| * JerEl 0-4|0-1| * BFl| 0-4]0-3[ * R 0-2[1-5] *
#2f H *kiR CIN:D]
7/13 12:00~ 7/13 12:00~
C EvF M EvF
1t ] o 3 |
HOF bd 173 EHF 25
7/13 13:15~ 7/13 10:45~
B EvF A EvF
2 | 1] 2
[50mU L= ES R - 2FmRYYh—15
0 1
REs 7/13 12:00~
0 1 E EvyF 1 2
7/13 9:30~ 7/13 9:30~
E EvF F EvF
(BR& X34:1) (BE (%34r)

KR 2T DK = +F0H
50i% E4Y' -7 50i% FY'IL—7° 50i% GYN—7 50i% HI V=7
#2E| 5% KR v | srox]| )\B A KR| = +#m| 1 E | ERE

#F| * |0-2[0-0 vinz[ * [ 2-3]2-1 #m@E|l *x [1-3[0-0 +m@E| *x [4-0]3-0
»3%[2-0[ * | 0-1 srox[ 3-2 | * | 2-1 FiR|3-1] * [0-1 #HE[0-4[ * [o0-1
KiR[o-0[1-0] =* INFE|1-2[1-2] * =i 0-0] 1-0] * BEfE| 0-3[ 1-0] =
HoE TAA= $iR BE
7/13 10:40~ 7/13 10:40~
E EvF F EvF
3 ] 2 1 1
#26H I\F B HE
7/13 9:30~ 7/13 10:40~
G EvyF G EvF
o | 2 1t ] o




(60 U L MEBHRAR—YF o TLH (68 Ll ELEHH R vh—15

o | 2 78128 12:00~13:00 GEvF
7/13 13:15~ TR I v R VS HILERF—L
M EvF
(6ORE LA L iR Bosg) 78138 12:.00~13:00 GEvYF
fE aF TR IT= v R VS HILERF—L
60i% MYIL—7° 60i% NI V=7
= E|\F MAEE =2 HesiB(EvFR)
= * [1-3]0-1 Wzl * |1-0|0-2
#A|3-1] * [2-0 walo-1] = [1-0 AEYTF | TEBHmAR—VYFr2TL5 A
JAF|1-0|0-2]| =* BF[2-0]0-1] * BEYF | BEMAKR—YF¥r>TEL5 B
CEvF | fEEHRRAR—YFvTL5 C
I\F 28 MEYTF | EBHRAR-—VY¥r2TE5 M
7/13 10:45~ EEvF | EFEHNEELFEESE E
Cc EvF FEVF | EEEFNEBEAG-YLE F
0 0 GEYF | =HmEYvH—I5 G
=4 T}
7/13 10:45~
M EvF

4 1 o



